Cyber Threat Defender Asset Quiz

Fill in the Blanks using each term from the Legend Bank Only Once. Choose
the answer that best completes the sentence.

. A typical is one of the basic building blocks of your
network and connects to the internet through a different asset.

A can connect to the internet via a Wireless Router.
Multiples of this system can connect to increase the size and efficiency
of your network.

. You can replace your Desktop computer with this system. A
is more powerful, has more memory, and is
concentrated on running the services you need for your network.

. The allows for an unlimited number of Laptop Computers to
be connected to the Internet through an Internet Service Provider (ISP).

establishes a connection to the Internet and is one of
the basic building blocks of a network.

Legend Bank

A) Wireless Router D) ISP Connection
B) Laptop Computer E) Desktop Computer
C) Dedicated Server
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